Part III. Theoretical Perspectives

Many people will probably agree with the overview of the current crisis
provided in Part One of this reader. Even more will respond to and recognize the
sketches of particular dimensions of crisis outlined in Part Two. Relatively few will
agree, however, on the basic causes of the crisis of the 1970s. There is a long history
of differences over the theoretical explanation of economic crisis; -that tradition of
debate has continued throughout the development of the current crisis. Although
these debates sometimes seem far removed from our daily problems, their ultimate
importance cannot be overstated. Different strategies for overcoming crisis
depend, in the end, on different analyses of its basic causes.

- The two essays in Part Three provide a review and discussion of different
theoretlca] interpretations- of economic crisis, particularly within the Marxian
tradition. Both essays are longer and somewhat more difficult than those in the
preceding two sections, but each deserves careful attention. In the first essay, Anwar
Shaikh traces the history of different theories of crisis and reviews their various
political implications. In the second essay, Thomas E. Weisskopf systematically out-
lines the three main Marxian perspectives on cyclical economic crisis, clarifying their
differences and outlining the limits to government counter-cyclical pohcy which are

" highlighted by these three views.

An Introduction to the History of Crisis Theories
ANWAR SHAIKH

Introduction

This paper is about the history of crisis
theories. Broadly speaking, the term “crisis” as
used here.refers to a generalized set of failures in
the economic and political relations of capitalist
reproduction. In particular, the crises we seek to
examine are those towards which the system is
internally driven, by its own principles of opera-
tion. As we shall see, it is in the nature of capitalist
production to be constantly exposed to a variety
of internally and externally generated disturbances
and dislocations. But-only at certain times do these
“shocks” set off general crises. When the system is
healthy, it rapidly revives from all sorts of set-
backs; when it is unhealthy, practically anything
can trigger its collapse. What we seek to examine
is different explanations of how and why the
system periodically becomes unheaithy.

| Reproduction and Crisis

Consider how peculiar capitalist society is. It
is a complex, interdependent social network,
whose réproduction requires a precise pattern of
complementarity among different productive
activities: and yet these activities are undertaken
by hundreds of thousands of individual capitalists

- ‘'who are only concerned with their private greed

for profit. It is a.class structure, in which the
continued existence of the capitalist class requires
the continued existence of the working class: and
yet no blood lines, no tradition, no religious
principle announces who is to rule and who is to
be ruled. It is a cooperative human community,
and yet it ceaselessly pits each against the other:
capitalist against worker, but also capitalist
against capitalist and worker against worker.
The truly difficult question about such a
society is not why it ever breaks down, but why it
continues to Ffunction. In this regard, it is
important to realize that any explanation of how
capitalism reproduces itself .is at the same time
{implicitly or explicitly) an answer to the question

~ of how and why non-reproduction occurs, and

vice versa: in other words, the analysis of repro-
duction and the analysis of crists are inseperable.
This is true whether or not a particular theory
makes this connection explicit.

In the history of economic thought, we can
distinguish three basic lines of analysis about.
capitalist reproduction. First, and most popular, is
the notion that capitalism is capable of automatic
self-reproduction. It may be smooth and efficient
(neoclassical theory), or it may be erratic and
wasteful (Keynes), but it is self-equilibrating.
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Above all, there are no necessary limits to the
capitalist system or to its historical existence: if left
to itself (neoclassical theory) or if properly
managed (Keynes) it can last forever. Naturally,
‘this has always been the dominant conception in
bourgeois theory. ' :

' The second position takes the opposite tack:
“here, it is argued that, by itself, the capitalist Sys-
tem is incapable of self-expansion. It must grow to
“survive, but it requires some external source of
demand (like the non-capitalist world) in order to
‘keep it growing. This means that its reproduction
is ultimately regulated by factors outside of the
system: the limits to the system are external to it.
The different schools of underconsumption, in-
cluding Marxist ones, have their origin in this lin
of thought. '

Lastly, there is the position that, though
capitalism is capable of self-expansion, the ac-
cumulation process deepens the internal contra-

dictions on which it is based, until they erupt in a

crisis: the limits to capitalism are internal to it.
This line is almost exclusively Marxist, and
includes both “falling rate of profit” and “profit
squeeze” explanations of crisis. '

Each of the above positions implies a corres-
ponding notion of crisis, why they occur and what
they imply. We will therefore examine each in
turn. )

Il Capitalism as Automatically
Self-Reproducing

In what follows, we will discuss. the laissez-
faire and Keynesian traditions of orthodox theory
in separate sections.

A. The Laissez-Faire Tradition

Unfortunately we are all too familiar with the
notion of capitalism as a self-regulating, smooth,
efficient and harmonious system. From its begin-
ning in Adam Smith's “Invisible Hand” to the
impotent elegance of modern general equilibrium
analysis this one conception has dominated
bourgeois theory. The fundamental contradiction
of all human existence is said to arise from the

- insatiability of human wants in the face of the
limited availability of physical resources.! The
insatiable greed of capitalism is thus transformed
into an attribute of Human Nature; its insane
plunder of our planet is therefore only “natural,”
the inevitable outcome of a battle within Nature
itself. Human Nature meets Physical Nature. In
this way greed, competition and selfishness are
eternal: there is nothing we can do about them, no
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way we can eliminate them. In fact, on this basis
capitalism is presented as that social set of rules -
which automatically permits the freest expression
to the above “intrinsic” human drives. Moreover,
since it represents the optimal institutional solu-
tion to an eternal “natural” conflict, capitalism
remains eternally optimal. It has no limits other
than some unimaginable mutation in Human
Nature or some unimaginable destruction in
Physical Nature. Leave it alone, and capitalism
will reproduce itself smoothly, efficiently and
probably forever. So the story goes.

Since the system is viewed as self-regulating,
the- process of regulation tends to be ignored.
Thus, the dominant tendency within this proble-
matic is to concentrate on either static or balanced
growth equilibria. In this way the impression is
given that the adjustment process itself is negligi-
ble. Indeed, this strategy is quite necessary, since
the notion of a prolonged adjustment process is a
threat to the concept of equilibrium and hence to
the cherished optimality of the system.

Even so, crises occur anyway. This tends to
make. economists resentful, at times quite surly.
Nonetheless, their ideological function require
them to (periodically, at least) deal with the
question of crises,

Economists who study the history of empiri-
cal.phenomena are inevitably impressed not only
with the frequency of crises but also with their
apparent regularity. In the U.S., for example
Wesley Clair Mitchell counts fifteen “crises”
within the 110.years from 1810 to 1920, while Paul
Samuelson lists seven “recessions” in the thirty
years from 1945 to 1975.2 In between was the
Great Depression which lasted almost ten years|

- There are basically only two ways to absorb
this evidence into the main body of theory without
permanently damaging it. First and foremost, it
can be argued that in principle crises need never
occur; that they do in fact occur may then be

attributed to factors which are external to the

normal functioning of capitalist reproduction.
Through no fault of its own, the system is
periodically disrupted by crises. In this tradition
we find crisis blamed either on Nature (sunspots,
crpp failures in general, etc.) and/or on Human
Nature (psychological cycles of optimism and
despair, wars, revolutions, and political blun-
ders}.?

‘But the regularity of crises proves hard to pin
on sunspots or consumer bio-rhythms, while the
one-shot explanations like wars and political
blunders are just not adequate to explain appar-
ently cyclical phenomena. -Consequently we get



* the concept of the business cycle; it represents the

" other basic way to absorb the phenomena of crises

~ into orthodox theory. Within this concept, the
system is still viewed as being self-regulating: only
now the adjustment process is seen as being
cyclical rather’ than smooth. Various factors
internal to the system’s operation give rise to self-
generating cycles, so that self-reproduction has an
internat rhythm. _

It is important to note that in orthodox theory
a cycle is not a crisis. In order to be consistent with
the overall theoretical structure, cycles must be
viewed as being essentially “small fluctuations,”
second order variations which at first approxima-
tion one may justifiably neglect. In this way the
cyclical nature of the adjustment process does not
represent a limit to the ability of the. system to
reproduce itself.

The branch of orthodox economics known as
business cycle theory is a combination of these
two basic approaches. Regular, non-violent fluc-:
tuations are internal to the system: contractions
and expansions are part of the normal business
cycle. Violent or prolonged expansions and
contractions, however, arise from external factors
originating in Nature and Human Nature, factors.
which either turn a cycle into a crisis, or
precipitate one entirely on their own. Crises, there-
fore, remain outside the normal process of
capitalist reproduction. :

In spite of its yeoman service, business cycle:
theory has always occupied a minor role in laissez-
faire economics. Its subject matter was too
dangerous, its history too tainted by anti-capitalist
sentiments, for it to be comfortably integrated into

_the main body of theory. With the advent of
Keynesian economics, however, this changed. We
shall see why shortly.

B The (Right) Keynesian Tradition

We have so far been speaking of the “laissez-
faire” tradition within bourgeois theory, since this
has almost always been the dominant one. But the
massive worldwide collapse of capitalism during
. the Great Depression dealt this tradition a stagger-
ing blow. The collapse itself was “easily” explained
by the faithful in a variety of ways similar to those

described abo'vs; what was inexplicable was the’
fact that the system did not seem to exhibit any

tendency to snap back to “normal” full employ-
ment equilibrium. Even by official {conservative)
estimates unemployment in the U.S. hovered
around ten million people in 1939 — a full ten
years after the “Great Crash.”

_As the Depression dragged on, as social
unrest deepened, laissez-faire theory fell increas-
ingly into disrepute and Keynesian theory rapidly
took its place.

Keynes attacked the orthodox notion that
“supply determined its own demand,” for it was
this notion which led to the conclusion that

‘capitalism tended automatically to, more or ess,
_ fully utilize the available labor force and means of

production. Instead, in his analysis the level of
investment spending planned by capitalists is the
crucial factor in determining the fevel of output
and employment. But investment plans depend to
a significant extent on the anticipation of profits,
on the “expectations” and “animal spirits” of
capitalists. Two major conclusions follow from
this. First, since “expectations” are notoriously
volatile, capitalist reproduction is likely to be
quite erratic. Second and even more important,
there exists no automatic mechanism within
capitalism which would make capitalists plan just
the right amount of investment so as to assure full
employment. It should be noted, however, that
the system is presumed to be automatically -self-
equilibrating: it is just that the equilibrium does
not preclude persistent unemployment or infla-
tion. ,

The so-called Keynesian Revolution was an
ambivalent one, however. Much of the “deep”
structure of Keynes' analysis was the same as that
of the orthodoxy he attacked:* the division of
society into producers and consumers {not classes)
the same basic view of human nature, the crucial
importance of psychological “propensities” and
preferences, the role of supply and demand, and
above all the general reliance on equilibrium
analysis. It is no wonder then that a portion of the
orthodoxy was able to absorb Keynes into a new
version of bourgeois theory. Conceding that there
was indeed no automatic mechanism to make’
capitalist reproduction smooth, efficient and crisis
free, the neoclassical Keynesians (Bastard Keynes-
ians, as Joan Robinson calls them) turned to the
State as the mechanism which would bring to life
the society pictured in the laissez-faire parables. If
the State did its job well, it would manipulate
aggregate demand so- as to maintain near full
employment with little or no inflation; with this
modification, “the rest of the doctrines of the
(orthodoxy) could be revived.” _

Since economic fluctuations are an. admis-
sable part of Keynesian theory, business cycle
theory becomes a much less dangerous branch of
economics. Indeed, since the State in principle can
eliminate Fuctuations, it becomes imperative to
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study cycles and crises in detail in order to know
how to counter them. Consequently, a great
wealth of information about crises has sprung up
since the so-called Keynesian Revolution.

Not surprisingly, Keynesians tend to see the
erratic and violent history of capitalist accumula-
tion as a series of errors in “policy.”¢ Their views
on the current crisis are no exception.

Keynes also generated another branch of
followers, the so-called left Keynesians, among
whom the leading figure is Joan Robinson. Her
views, along with those of Michael Kalecki and
Joseph Steindl, will be discussed in the next
section, ' : '

lli Capitalism as Incapable of Sélf-Expansion

From the very beginning, the laissez-faire
vision of a harmonious, crisis-free capitalism has
been bedeviled by an equally old and equally
persistent notion of capitalism as being inherently
incapable of accumulation. The internal forces of
the system, it is argued, can at best reproduce it at
some stationary level: but a stagnant capitalism
soon degenerates. Competition sets each against
the other, yet because there is no growth no one
can gain except at the expense of someone else.
Capital is set against capital, worker against
worker, and ‘class against class. FEither the
antagonisms become too intense and the system
explodes, or else it decays into a society (like

. China of old) in which a tiny ruling elite rests on a
~ base of mass poverty and human misery. In either

case, a non-accumulating capitalism will not last
long.

Interestingly enough, this countervailing ar-
gument begins from the same initial conception as
the theory it attacks. Orthodox theory has always
insisted that the ultimate goal of all capitalist
production is to provide for consumption: that
which is not consumed now is plowed back into
production in order to provide for future con-
sumption. Either way, it is consumption which
rules the roost. In the dark glass of underconsump-

 tion theory, this same notion becomes a weapon in

the attack on capitalism. Throughout the long and
complex history of this branch of crisis theory, the
following argument appears again and again: yes,
the ultimate regulator of all production is indeed
consumption, currently or in the future; however,
capitalist production responds not to need but to
purchasing power, not to demand but to “effec-
tive” demand (i.e. demand backed by money).
And such is its contradictory nature, that if left to
itself it is incapable of generating sufficient

222

effective demand to support accumulation. The

‘intrinsic mechanisms of the system, in other

words, tend to point it towards a stationary state;
it requires some external source of effective
demand — external, that is, to its basic mecha-
nisms — in order to continue growing,

A. The C oncept of the Demand Gap

Over the past 150 years, there have been
many attempts to specify the exact nature of the
underconsumption problem. In spite of the variety
of formulations, however, it is quite striking how
constant is the notion that the demand for
consumer goods is ‘the ultimate regulator of
overall production.

Suppose we divide all social preduction into
two major branches or “Departments.” Depart-
ment [ produces producer goods (raw materials,
fuel, plant and equipment, etc.), while Depart-
ment I produces consumer goods and services
(food, clothing, entertainment, etc.).

The basic tenet of underconsumption theory
then, is that the demand for consumer goods and
services determines not only the production level
of Department IT (consumer goods), but also that
of Department I (producer goods). Output in the
producer goods industry is ultimately regulated by
the input requirements of the consumer goods
industry: the demand for producer goods is there-
fore “derived” from the demand for consumer
goods. -

Notice that this does not merely say that the
output of Department II infliences the output of
Department I, and vice versa. It says something
much stronger, namely that the causation is
primarily one way, that Department II is the
leader and Department I is the follower.

Parallel to this notion is a conception of
circulation as a process whereby society’s product
is shared out between workers and capitalists,
Thus, out of the total social product, part of it is
conceived of as being the replacement of the inputs
used up in producing it, and the remaining part,
the net product, is thought of as being available
for “distribution” among workers and capitalists.

A similar breakdown is made on the income
side. Qut of the sales of all firms, an amount of
money is said to be set aside to replace money
expended for producer goods used up during
production. The rest is the net operating income of
the firms which is divided into wages and profits,
This net income, what orthodox economists call
net national income, is the source.of effective
demand for the net product.



Net production has two sides, .therefore. On
the one hand we have goods and services and on
the other we have net money income, which
equals wages plus profits: supply on one side, and
effective demand on the other.

We can now state the basic problem of under-
consumption theory. Workers generally spend all
their wages. They therefore “buy back” a portion
of the net product, at its normal price. But since
workers never receive the whole of net income,
they can never buy back the whole of net product.
Workers' consumption always leaves a “demand
gap;" moreover, the lower the share of their
wages, the greater the "demand gap."” :

At this stage in the analysis the surplu
product still remains to be sold, and capitalist
income — profit — still remains to be expended. If
these two could match up, all of the product
would be sold and the “demand gap” completely
filled. But under what conditions will this happen?

The early underconsumptionists tended to
visualize the net product as being composed solely
of consumer goods. Given their fundamental
premise that the output of Department I is
regulated by the input requirements.of Depart-
ment 11, they easily fell into ;the idea that in any
period of time the output of Department I is just
sufficient to replace the inputs used up, by the
system as a whole. This means that although the

total social product is made up of both producer.

goods (Department I) and consumer goods (De-
partment II), the net product (the total minus the
replacement requirements) consists solely of con-
sumer goods.” '

From this point of view, after workers spend
their wages to “buy back their share” of the net
product, we are left on the one hand with a surplus
product in the form of consumer goods, and on
the other hand with the unexpended profits which
form capitalist “income.” It therefore follows that
the “demand gap” will be filled only if capitalists
spend all their profits on personal consumption.
But then there can be no investment, hence no
growth, no internally generated accumulation.

This does not mean that capitalists will not
try to accumulate. What it in fact implies is that
the attempts of the class as a whole to accumulate
will be self-defeating. Ater all, in the cut-throat
competition of one capitalist against another, the

* The net product is that part of the total product over
and above that necessary to maintain the productive
system. If we subtract workers' consumption from it, we
get that part of the total prodict over and above the main-
tenance requirements of the productive system and of the
workers who operate it: it is the surplus product.

size of a capitalist’s assets are an important index
of power. And one important way to increase in
size and power is to save, invest and thereby
grow. So capitalists will keep trying to accumu-
late. Imagine, therefore, that we begin from the
initial situation pictured above, in which Depart-
ment | produces just enough producer goods to
maintain the productive capacity of the system,
and Department Il produces an amount of
consumer goods which are completely “bought
back” by workers and capitalists consuming. all
their income. Now suppose that the rnext time
around capitalists spend only part of their profits
on consumer goods; the rest they invest by buying
producer goods, hiring workers, and setting up
firms in Department 1 and/or Department II.

A curious thing happens at this point. Let's
say that total profits amount to $200,000, which
the capitalist class at Ffirst spends entirely on
personal consumption. Now suppose they cut
back their consumption to $150,000, and the
remaining $50,000 they invest by using $30,000 to
buy producer goods (from the inventories of
Department I) and $20,000 to hire workers {out of
the reserve army of the unemployed). The net
drop in consumer demand is only $30,000, since
the drop in capitalist consumption demand is
partially offset by the extra consumption of the
newly hired workers. Nevertheless, demand for
consumer goods does drop, so that sales in
Department [I will fall which in turn means that its
own demand for producer goods will fall, thus
decreasing sales in Department 1. Yet, the very act
which led to all of this has simultaneously
expanded productive capacity in general. Their
attempt to expand capacity has therefore made
redundant not only the extra capacity they have
added but also a part of the capacity which existed
before. Inevitably this must cause them to
retrench. Internally generated accumulation ne-
gates itself. :

Since expansion occur gradually and take
time to complete, one can imagine that it takes a
while for the lack of “effective demand” to make
its effects felt, and another while for the contrac-
tion which ensues to work itself out. The conse-
quence of the attempted accumulation would
therefore be a boom followed by a bust, with zero
net accumulation over the cycle. This, according
to the logic of underconsumption theory, would
be the expected behavior of a capitalist economy
left to itself.

Cycles of boom and bust are no strangers to
the history of capitalism. At the same time,
however, the study of history makes it abundantly
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clear' that these cycles are accompanied by
tremendous secular growth in actual capitalist
economies — a fact which stands in sharp contrast
to the intrinsically stagnant capitalism implied by
underconsumptionist logic.. Invariably, therefore,
underconsumption theories have had to resort to
“exogenous” (i.e. external) factors to explain this
great contrast between history and theory. In the
next two sections, which deal with the history of
pre-Marx and post-Marx underconsumption theo-
ries, respectively, we will see what an important
position these external elements occupy.

B. Conservative and Radical Underconsumption
Theories - '

In the preceding section I have attempted to
present both the essential logic behind undercon-
sumption arguments and the implications which
follow from this logic. In doing so I have used
modern conceptual tools such as Marx's two
Departments and Kalecki's aggregate supply and
demand analysis. But these concepts are relatively
new, and quite naturally the argument does not
appear in precisely this form in the actual history
of underconsumption theory. In fact, what is quite
striking about this history is that while the notion
of a “demand gap” appears throughout, the
corresponding implication about the impossibility
of self-sustained capitalist accumulation is seldom
grasped.  Particularly among the non-
- Marxian theories, this implication is assiduously.
avoided. It is a difficult position indeed to live and
write in the 19th century, during a period of almost
explosive capitalistic growth, and have your
theory tell you that growth is not intrinsic to
capitalist production.

Convinced of the soundness of their basic
position but either unaware of or unwilling to
accept its full implication, the early undercon-
sumptionists almost universally adopted the posi-
tion that too much accumulation would cause a
crisis. They would begin by assuming that the
economy was growing at some “sustainable” rate.
Following the logic ! have outlined in the
préceding section, they would then assume that
capitalists cut back this consumption and invested
the amount so saved in additional producer goods
and workers. Thus, while investment had ex-
panded productive capacity, the net cut back in
- consumer goods demand and its subsequent effect
on producer goods demand resulted in underutili-
zation of even the capacity which had existed
before. “Too much saving” had led to a slump.*

But what their logic actually implied was that
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any saving would lead to a slump, a fact that was
soon pointed out by their opponents. In his excel-
lent study entitled Underconsumption Theories,
Michael Bleaney summarized the dilemma of the
early underconsumptionists:

The general position of these writers was that

there is a limit above which the rate of

accumulation becomes dangerously high,
threatening to precipitate a slump. But the
logic of the argument as they develop it is that
this limit is in fact a zero rate of accumula-
tion, as is effectively pointed out by Chal-
mers. Thus they are caught in a trap, in which
either they must draw back from the brink
~and discard part of their results, or they must
openly state the absurdity of their conclu-

sions.” .

- The first major economist to land himself in’
this dilemma was Thomas Malthus (1820s). True
te the underconsumptionist tradition, Malthus
argued that it is the demand for consumer goods
which regulates production, so that only a certain
rate of growth was “sustainable.” Of course, given
the logic of his argument and the conclusion
implicit in it, Malthus was never able to say just
what this “sustainable” rate of growth was.
Nevertheless, he did emphasize that (too much)
saving would mean that capitalist consumption
would not fill the demand gap left by workers, so
that crises of overproduction {underconsumption)
were distinctly possible in capitalism. In Malthus’
hands this tendency towards underconsumption
became a reactionary apologetic for feudal land-
owners, whose high living and conspicuous
consumption was presented as a welcome counter;
balance to the tendency of capitalists to {over)
save. {Malthus is also famed for his attack on the
working class through his so-called laws of
population. Then, as now, these brutish “natural
laws” were never meant to represent the behavior
of the “civilized” ruling classes.)

Simonde de Sismondi was a contemporary of
Malthus who also saw a tendency toward under-
consumption within capitalism. Once again, we
find here the argument that the level of consump-
tion regulates overall production, so that produc-
tion can grow only as fast as consumption grows.
But' capitalism restricts the consumption of the
masses by keeping them in poverty; the workers
are too poor to buy back their own product (here

* The underconsumptionists did not -envision any
Keynesian discrepancy between planned saving and
planned investment. Capitalists plan both, and what they
save is invested, not hoarded. Hoarding does not play a
major role in underconsumption theories, as Bleaney (op.
cit., pp. 50-51) points out.



agéin the ubiquitous demand gap). Moreover, as
capitalism develops, income distribution becomes

* more and more unequal, so that consumption of

the masses grows more slowly than overall wealth

(the gap widens). In Sismondi, therefore, not only

does a tendency to underconsumption exist, but it
also gets worse as capitalism matures. Over time
crises get worse, and competition among nations
for external markets gets more fierce.

Unlike the reactionary Parson Malthus, Sis-
mondi was a radical who was deeply impressed by
the suffering of the peasants and workers under
capitalism. In his time he stood at the head of what
Marx called petty-bourgeois socialism, which
struggled against the cruelty and destruction
engendered by capitalism and sought to reform it
so as to ameliorate these conditions. Sismondi
himself championed radical changes in income
distribution in favor of peasants and workers, and
looked to the state to carry these and other
economic reforms out.?

Both Malthusian and Sismondian schools of

. underconsumption mention external markets as

sources of consumption demand. In Malthus this
is only a passing reference; in Sismondi, however,
foreign markets are an important outlet for
domestic_overproduction, and he sees increasing
international rivalry as arising out of the worsen-
ing underconsumption problem. Of course, in
order for international trade to be a solution to
this problem, a given nation must export more to
others than it imports from them. This is
obviously impossible for the world as a whole. If
all trade is confined to capitalist spheres only,
then foreign trade is internal to the world capital-

ist system and offers no escape from the under-

consumption problem. Sismondi consequently
does not present foreign trade as a general solution
to the problem.

Between the time of stmondl (1850s) and the-

time of J.A. Hobson {1900s) came the great water-
shed in capitalist history which marks the
beginning of the Age of Imperialism. In the years
between the 1870s and 1914, for instance,
European foreign investments rose oveér 700%,

much of it going to the so-calléd Third World. It is .

therefore not at all surprising that by the 1900s
foreign trade, through. imperialism, began to
appear to be a solution to the problem of under-
consumption. After all, if one conceives of the

world in terms of the imperialist capitalist nations

and the underdeveloped Third World, it becomes
possible to also imaging this Third World absorb-
ing the excess savings of the developed capitalist
countries — either directly in the form of foreign

investments, or indirectly in the form of commodi-
ty exports. Both in Hobson and in Rosa Luxem-
burg (whom I will discuss in the next section), the

. connection betweeri underconsumption and im-

perialism becomes very important.

Hobson begins in the now familiar way of
underconsumptionists. He explicitly identifies the
ultimate object of all production, even under
capitalism, as being the production of consumer
goods. Moreover, he is the first one to explicitly
treat Department | {the producer goods industry)
as being strictly subordinate to Department II
(consumer goods), so that the whole production
process may be treated as a vertically-integrated
system beginning from raw materials and proceed-
ing in successive stages to the final product which
consists of consumer goods alone. Lastly, he too
begins by postulating a “sustainable” rate of
growth {which of course he cannot define) and
then goes on to show that (toco much) saving leads
to a siump. Crises arise from {over) saving.’

Hobson also introduces the concept of the
“surplus,” which plays an important role in his
subsequent analysis. Generally - speaking, the

“surplus” is defined by Hobson to be the excess of
the total money value of the output over the -
strictly necessary costs of producing that output.’®
This concept involves distinguishing between
necessary and unnecessary costs of production, as
well as between costs of producing and other
expenses (such as selling costs, sales taxes, etc.). It
is a2 broader concept than what I defined earlier as
profits (sales minus all costs), but we need not
pursue the difference here.

In any case, Hobson's notion of surplus
includes unnecessary “costs” such as monopoly
profits and rent of land (since these do not stem
from production of any sort). As capitalism
develops, these “unearned incomes” swell, and
since their recipients tend to consume little,
oversaving tends to occur. There is, therefore, a
worsening problem of underconsumption.*!

According to Hobson, foreign trade provides
an outlet for excess savings and a market for
excess production, even under competitive capital-
ism. However, as industry becomes more concen-
trated and monopoly becomes widespread, the
underconsumption problem moves to a qualita-
tively higher level. On the one hand monopoly
profits swell the surplus, leading to greater
savings; on the other hand since monopolies
achieve these excessive profits by raising prices,
they tend to shrink the market. The same factors
which expand savings thus reduce the outlets for
them. Imperialism arises as the solution: imperial-
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ism is the highest stage of underconsumption.
However, this néed not be 50, says Hobson.
The root cause of crises and imperialism lies in the
inequality of income and:the excessive incomes of
monopolists and rentiers, and the solution lies in
appropriate reforms: .
Let any turn in the tide of politico-economic
forces divert from these owners their excess of
income and make it flow, either to the
workers in higher wages, or to the community
in taxes, so that it will be spent instead of
being saved, serving in either of these ways to
swell the tide of consumption — there will be
no need to fight for foreign markets or foreign
areas of investment, 7
A surprising number of theses advanced by
Hobson in the 1900s reappear in subsequent
Marxist analysis. Writing in 1916, Lenin empha-
sizes the connection between monopoly and
imperialism, though he rejects Hobson's under-
consumption analysis. On the other hand, in the
1920s, the German revolutionary Rosa Luxemburg
argues that.the roots of imperialism in fact lie in
the underconsumption problem, though she of
course rejects the conclusions which Hobson
draws from this. More recently, in the United
States, influential works by Marxists Paul Sweezy
and Paul Baran have revived Hobsonian notions
such -as the view of overall production as a
vertically integrated sector, the concept of the
“surplus,” the notion that monopoly tends to
make the surplus rise, and above all the argument
that the absorption of the surplus represents an
intrinsic problem of capitalist production which
becomes more acute with the prevalence of
monopoly. We turn to these theories next.

C. Marxian Underconsumption and Dispropor-
tionality Theories

In the early underconsumption theories, the
problem is invariably posed in terms of tos great a
rate of accumulation. We have seen that according
to their own logic, however, any accumulation
tended to negate itself. Inevitably, underconsump-
tionists were driven to the conclusion that
capitalism tended towards stagnation, that a
self-expanding capitalism was impossible.

Marx completely destroyed this argument. In
order to see why, we need to discuss some of the
conceptual advances made by him.

We are already familiar with the first great
advance, which was to conceptualize overall
production in terms of two major branches or
Departments, producer goods (I) and consumer
goods (I1). This means that the total product over
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any period of time is composed of both types of
goods, ' ,

‘The second breakthrough by Marx was to
clarify the nature of effective demand, The under-
consumptionists, it will be recalled, identified
basically three types of effective demand: replace-
ment demand which buys back producer goods to
replace those used up, workers consumption
demand which buys back their “share” of the
product, and capitalists’ consumption and net
investment demand which must fill the “demand
gap” in net output.

Marx’s first point of departure involves a
question of time. Suppose the production process
in each Department takes 2 given length of time,
say one year. Well then, the producer goods used
up in the overall process cannot be bought out of
this year's production, because the first ‘inished
producer good which derive from production
started in this year won't roll off the assembly line
until the end of the year. Similarly, workers
employed during this year cannot “buy back” the
consumer goods resulting from their current
activities because these goods won't be ready till
the end of the year; nor can capitalists consume
what is not yet available. ‘

_ Let's go back to the beginning of the year. To
keep the example as simple as’ possible,. assume
that all goods to be used over the year are bought
at'the beginning of the year (this is an expositional
device only). Capitalists decide the level of
production-they would like for the current year,
They therefore buy a certain amount of producer
goods, and hire a certain number of workers; the
workers in turn use their wages to buy consumer

: go_ods. At the same time, capitalists also must buy

a certain amount of consumer goods for thejr own
personal consumption over the vear. Notice that
the effective demand originates entirely with the
capitalist class: workers’ wages are part of the
year's gross investment expenditures by capitalists:
It is quite illegitimate to treat consumption and
investment as being functionally independent,
since the bulk of consumption comes from wages,
which are themselves a necessary aspect of invest-
ment expenditures.

At the beginning of the year, therefore, it is
the capitalist class through its consumption and
investment expenditures which determines effec-
tive demand. But who sells the commodities?
Why, the capitalist class, of course! The beginning
of this year is also the end of the last year; it is
therefore also the time when the finished produét
of last year’s production process becomes avail-
able. Last year's production provides the capitalist



class with the commeodity-supply available for sale
during this year; this year's expenditures by the
capitalist class on gross investment and personal
consumption determine the effective demand for
. that commodity supply. If this sounds bizarre, it

should be remembered that capitalist reproduction -

is bizarre. Production and consumption decisions
are undertaken by hundreds of thousands of
individual capitalists with no thought whatsoever
for the reproduction of the system as a whole.
Though it is the capitalist class which determines
both ends of the supply-demand relationship,
capitalists do not do so as a class but ‘rather ‘as
- individuals. The difficult part is to explain why
they ever manage to “come out right.” We will
return to this point shortly. '

It is not difficult to go on from here to show
that steady growth is easily possible, with effective
demand in each year being just sufficient to buy
the available supply at “normal” prices.?* If invest-
ment grows by 10%, then output grows by 10%.
If therefore capitalist consumption also grows by
10%, each year's output will find waiting for it the
effective demand to buy it. After Marx, the

possibility of “balanced growth” has become a

commonplace
Balanced growth implies that productwe

capacity and effective demand can . grow_ at

roughly the same rate. Taken by itself, however, it

does not necessarily imply that capitalism achieves |

anything remotely like that. Nor does it tell us

anything about which way the causation mlght_

run if such growth was indeed possible on -the
average. Nonetheless, the fact that expanding
reproduction is possible poses a distinct threat to
underconsumption theories. It is in the light of this

challenge that we encounter Marxist versions of

underconsumption theory.

A little background on Marx’s wrltmg is in
order here. During the period 1858-1865, Marx
wrote and rewrote the bulk of the manuscripts
from which his great three volume work, Capital,
is taken. Volume 1 was published by 1867, but
Volume II — in which the analysis of the capitalist
reproduction process appears — was never put

. into final form, even though it was revised in the
early 1870s and again in the late 1870s. Marx did

not live to complete this task, and the latter two.

volumes were compiled and published by Engels.
During Marx's lifetime, therefore, the published
parts of Marx's work did not deal with reproduc-
tion and growth.

In Volume I Marx demonstrates that a surplus
product can arise only if workers as a whole work
more hours in a given day than it takes for them to

produce the goods they themselves consume and
goods needed to replace those used up in the
production process. It is this surplus labor time of
workers over and above that necessary for them to
maintain themselves and the productive system,
which provides the surplus product appropriated
by the capitalist class.

In Czarist Russia, this struck a responsive
note. Capitalism had begun its destruction of
social forms, in particular the ancient peasant
commune, the mir. In the 1850s, it was being
argued by some populists that the mir could serve
as the basis for a direct transition to socialism,
without having to go through the horrors of
capitalist industrialization. By 1880, Volume I of
Capital had provided Marxist populists not only

with a devastating critique of capitalism in general -

but also — by means of a little extrapolation —
with an important theoretical weapon against
capitalism in Russia.?*

The Marxist populists saw Marx's emphasis
on surplus labor-time as proof of the impossibility
of capitalism in Russia. In classic underconsump-
tionist fashion, they reasoned that since workers
produced more than they consumed, the home
market would never be sufficient to permit
growth. The developed Western capitalist nations
had escaped this dilemma by finding foreign
markets; but Russia, they argued, was too
underdeveloped to compete effectively on  the
world market. Capitalism therefore was not viable
in Russia. Organizing the peasants was the key to
socialism.

Volume II of Capital was published in 1885,
two years after Marx's death. Even so, fifteen
years later the Marxist populists were still insisting
that “it is impossible for a capitalist country to
exist without foreign markets.”'* But by now a
counter-argument had developed within Russian
Marxism; and it counted some heavy names on its
side: Bulgakov, Tugan-Baranowsky, Struve, Le-
nin. : '

This latter group of Marxists made two major
criticisms of the populist underconsumption argu-
ment. Fi_rét, they noted that it was a fact that
capitalists and commodity relations were rapidly
growing everywhere in Russia. Lenin's first book
The Development of Capitalism in Russia (1899)
was aimed at making just that point. Secondly,
Lenin and the others attacked the logical basis of
the populist argument. The basic error, they said,
lay in imagining that even under capitalism,
consumption was the goal of production. Capital-
ism produced for profit, not consumption, and
Marx's analysis of expanded reproduction estab-
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lished beyond a doubt that this profit-motivated
. production was entirely capable of generating its'

own internal markeéts. Underconsumption was not
an intrinsic problem. Capitalism was already
there, it was viable and spreading, and organizing
the urban proletariat was an-urgent task, '
That round of the debate. was decisively won
by Struve, Bulgakov, Tugan-Baranowsky and
Lenin. But their victory only set the stage for
another, even more important series of questions:
if capitalism was indeed capable of self-sustained
growth, what is there to prevent it from growing
forever? What are its limits, in other words?
Moreover, how are we to understand the devastat-
ing crises it is periodically subject to? |
Tugan-Baranowsky's response was to argue
the extreme position that capitalism was totally
independent of consumption, provided Depart-
ments [ and II grew in the correct proportions to
one another. But, he argued, given the anarchy of

capitalist production, this correct proportionality. .

was a matter of chance. The trial-by-error nature
of capitalist production would therefore period-
ically. give rise to such great imbalances that
reproduction ‘would be interrupted and a crisis
break out. Lenin rejected Tugan-Baranowsky's
assertion that consumption was irrelevant, but at
this time other than emphasizing the anarchy of

‘capitalist production as a source of crises, he did

not provide a clear cut crisis theory. He was not to
return to this subject. In Germany, some ten years
later the disproportionality theory of crises

_cropped up again, this time in Rudolph Hilfer-
. ding’s massive work on monopoly capitalism.

Both Tugan-Baranowsky and . Hilferding were
later to argue that since it was _the anarchy of
capitalism which led to crises, planning would
eliminate crises, “Organized capitalism,” in Hilfer-
ding’s words, was the solution, and the parliamen-
tary path to State control was the means. 17

Rosa Luxemburg refused to accept this
resolution of the debate. As a revolutionary
activist, she was completely opposed to the
reformism which the disproportionality theory
seemed to engender. Once one admits “that
capitalist development does not move -in the
direction of its own ruin,” she declared, “then
socialism ceases to be objectively necessary.” To
abandon the theory of capitalist collapse was to
abandon scientific socialism., And so she set out to
revive the Marxist underconsumption debate.1*

Since it was Marx’s examples of expanding
reproduction (balanced growth) which proved to
be the decisive factor in the earlier debate among
Russian Marxists, Luxemburg attacked these
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examples directly. Marx plainly demonstrated the
abstract possibility of expanded reproduction, she
conceded , but he did not seem to realize that it
was nonetheless impossible in reality because,
from a social point of view, the capitalist behavior
it requires makes no sense.'® Imagine that at the
end of a production cycle the whole social product
is deposited in" 2. warehouse. At this point
capitalists come forward and withdraw a portion
of the total product to replace their producer
goods used up in the last cycle, and workers come
and withdraw their means of consumption. This
leaves the surplus product, from which capitalists
withdraw a portion for their personal consump-

. tion. Now Luxemburg asks, where do the buyers

for the rest of the product come from? (This is of
course the traditional underconsumption problem

- of filling the “demand gap”). If Marx is right, she

says, then it is the capitalist class which buys back
the rest of the product in order to invest it and thus
expand productive capacity. But that makes no
sense at all, for “who are the new consumers for
whose sake production is ever more to be
enlarged?” Even if capitalists did what Marx says
they will, in the next period productive capacity
will be even greater, the gap to be filled even
larger, and the problem even more intractable.
Marx’s “diagram of accumulation does not solve
the question of who is to benefit in the end by
enlarged reproduction. . .” Expanded reproduc-
tion is algebraically possible but socially impos-
sible. 20

It follows that sctual capitalist accumulation
can be explained only through some forces
external to “pure” capitalist relations. Luxemburg
notes that the Malthusian solution of a third class
of unproductive consumers makes no sense, since
their revenue could only come from profits or
wages. Similarly, foreign trade among capitalist
nations also provides no solution for capitalism as
a whole, since it is internal to the world system.
She therefore argues that capitalist accumulation
requires a-strata of buyers outside of capitalist
society who continually buy more from it than
they sell to it. Thus trade between capitalist and
non-capitalist spheres is a prime necessity for the
historical existence of capitalism, and imperialism
necessarily arises as capitalist nations struggle
over control of these all important sources of
effective demand. Moreover, as capitalisin ex-
pands to cover the globe the non-capitalist milieu
shrinks correspondingly, and with it shrinks the
prime source of accumulation, The tendency to
crises is heightened, and 'competition among -
capitalist nations for the remaining non-capitalist



areas intensifies. World crises, wars ﬁnd revolu-
tions are the inevitable outcomes of this process.
Even if Luxemburg were right about. the

impossibility of accumulation,ther solution would .

not work since it requires the “Third World”
continually buy more than it seils. Where would
the excess revenue come from?
" But in fact she is ‘also wrong about the
possibility of accumulation. To see this we need to
return briefly to the analysis presented at the
beginning of this section. Recall that at the end of
- the production cycle, it is the capitalists who are in
possession of the whole social product. At the
same time, it is also their gross investment and

_ personal consumption expenditures which are the
original source of effective demand for this very
product (since workers' wages are a part of overall
investment). Now, aside from their own personal
consumption, their remaining expenditure (gross
investment) is in no way motivated by consump-
tion as such. It is motivated entirely by the antici-
pation of profit. What Marx’s examples show s
that if capitalists did undertake the appropriate
amount of investment, then they would indeed be
able to sell their product and make the anticipated
profits. If this success spurs them to reirivest once
again in anticipation of yet more profits, they
would be rewarded once again, and so on. All the
while consumption would expand due to ‘the
growing employment of workers and the growing
wealth. of capitalists. But this expansion of
consumption would be a consequence, not _‘a
cause.”

Yet if this refutes Luxemburg's criticisms of
expanded reproduction, it still does not answer the
two crucial questions she began with. First, what
forces, if any, make expanded reproduction
possible in reality? And second, is it not true that
if expanded reproduction is actually possible,

“capitalist development does not move in- the
direction of its own ruin?” :

That which theory debates, reality decides. In
1929 a devastating worldwide capitalist crisis
erupted, to be followed by over ten years of deep
depression and unemployment. Given this back-
ground, the problems of capitalist reproduction
‘'once more rapidly rose to prominence.

The first major attempt to revive undercon-
sumption theory as an explanation of crises was

) * Readers familiar with Volume 1 of Capital might
recall that Marx distinguishes two types of circuits involv-
ing purchase and'sale: C-M-C and M-C-M'. In the former
the ob]ect is consumption, but in the latter the object is the
expansion ot capital. It is the latter which is the dominant
(regulating) circuit of capitalist production. Luxemburg
forgets this. '

made by Paul Sweezy, in his influential book The
Theory of Capitalist Development (1942). Sweezy
explicitly set out to formulate an underconsump-
tion theory “free of the objeciions which have
been levelled at earlier versions.”?!

In this early attempt Sweezy is still very much
in the grip of the traditional underconsumption
notion that the demand for consumer goods
regulates overall production. From this point of
view Department I appears as part of the vertically
integrated productive apparatus of Department II
so that changes in the output of Department I
{producer goods) are in effect changes in the
capacity to produce consumer goods. In addition,
Sweezy argues that “empirical evidence” suggests

‘that a 1% change in Department 1 output will

increase capacity output of consumer goods by
1% . This is a virtual replay of Hobson, whom we
analyzed earlier.

Now consider effective demand, which as we
have seen is composed of capitalist consumption
and total investment expenditures (the latter in
turn being composed of expenditures on producer
goods and on hiring workers). As capitalism
develops, Sweezy notes, mechanization proceeds
apace and it takes more and more machines and
materials to back up one worker; this means that
capitalist investment expenditures on producer
goods rise faster than those on wages. Given his
analysis of production, the investment expendi-
tures on producer goods imply proportional -
increases in consumer goods capacity, whereas the
more slowly rising expenditures on wages of
course translate into workers’ consumption. It
appears, therefore, that the capacity to produce
consumer goods expands faster than the consump-
tion demand of workers. A “demand gap” thus
opens up. Of course, capitalist consumption
demand might fill the gap. But as capitalism
develops capitalists tend to invest proportionately
more, and consume proportionately less, of their
profits, so that their consumption lags behind the
productive capacity of Department II. Sweezy
concludes:

.it follows that there is an inherent tenden-
cy for the growth of. consumption to fall
behind the growth in the output of consump-
tion goods ... this tendency may express
itself either in crises or in stagnation, or
both.??

The fundamental error in Sweezy's analysis is
the traditional underconsumptionist one of reduc-
ing Department I to the role of an “input” into
Department 1. Once this assumption is made, it
necessarily follows that an increase in production
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of producer goods must expand the capacity of
consumer goods. But this is false: producer goods
may be used to make producer goods also, and as
we noted in the critique of Luxemburg, expanded

reproduction requires that they be so used.

Contrary to Sweezy’s reasoning, it is perfectly
possible to have a rising ratio of machines and
materials per worker and a proportional growth in
the outputs of both Departments, while still
having expanded reproduction. :

Sweezy's second attempt, made along with
Paul Baran, came over twenty vears later in
Monopoly Capital. In the first attempt, as we have
seen, Sweezy argued that capitalism had an
intrinsic tendency to expand the production
capacity of Department Il faster than consumption
demand. Monopoly Capital, written in the light of
Marx, Keynes and Kalecki, no longer restricts
itself to Department II or consumer demand alone.
Instead, it is argued here that modern capitalism
has a tendency to expand total productive
capacity faster than internally generated effective
demand — so that in the absence of external
factors, “monopoly capitalism would sink deeper
and deeper into a bog of chronic depression.”?*

It follows from this diagnosis that “the fairly
long periods during which the (actual) accumula-
tion process has proceeded in a vigorous fashion
with . . . the demand for labor power expanding
rapidly and productive capacity being utilized at
or close to full capacity” must be explained
through external factors.?* Thus Baran and Sweezy
point to major innovations (steam engine, rail-
roads, automobile), imperialist expansion and
wars, and the stimulation of demand in general
through advertising, government policy, etc., as
being cruwial factors in overcoming the inherently
stagnant nature of monopoly capitalism.

The association of monopoly with slow
growth._and excess capacity is not new. Many
theories (as we shall see) attempt to explain this
correlation. Baran and Sweezy’s specific contribu-
tion is their argument that these phenomena arise
from the persistent tendency of monopoly capital-
ism to over-expand productive capacity and thus
drive itself towards crises and/or stagnation. We
must therefore seek out the logical basis of this
argument. :

Recall that in Marx's analysis it is total
investment and capitalist consumption expendi-
tures. which determine effective demand (total
investment includes expenditures on wages, which
in turn determines workers’ consumption). More-
over, insofar as the personal consumption of the
capitalist class responds more or less passively to
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past and present profits, it is total investment
which is in fact the crucial variable.

Now suppose that at the beginning of a given
year, total investment expenditures for next year's
production are large enough to expand productive
capacity but not large enough to buy all of the
existing social product. Then capitalists will on the
one hand have initiated an expansion of their
future productive capacity, while on the other
they will find demand insufficient for even their -
present capacity.

Given the anarchic nature of capitalist pro-
duction, such an outcome is to be expected. fairly
often. The question is, is this merely one aspect of
the regular fluctuations in capitalist reproduction,
or is it something more? Marx, for instance,

-argued that capitalists are driven to accumulate as

rapidly as objectively possible, so that a discrep-
ancy such as the above tends tc be self-correcting.
But if one could somehow argue that in each
period investment tends to remain in the range
described above — large enough to expand
capacity but not large enough to purchase the
preceding period's supply — then of course
productive capacity will outrun effective demand
and the system will be faced with a demand gap or
“realization problem.” This is precisely the argu-
ment implicit in Baran and Sweezy’s assertion that
the (potential) surplus expands faster than the
system’s ability to absorb it. Yet, though they tend
to lay much of the blame for this -problem on
monopoly, they do not discuss why monopolists
would persist in over-expanding productive capac-
ity in the face of insufficient demand. The crucial
element of their whole thesis therefore remains
unexplained. In his recent survey of Marxist crisis
theories, Erik Olin Wright notes this all important
deficiency: :
The most serious weakness in {this) undercon-
sumptionist position is that it lacks any
theory of the determinants of the actual rate
of accumulation. . . Much underconsump-
tionist writing-has, at least implicitly, opted
for Keynes' solution to this problem by focus-
ing on the subjective anticipation of profit on
the part of capitalists as the key determinant
of the rate of accumulation. From a Marxist
point of view this is an inadequate solution.
I have not yet seen an elaborated theory of
investment and rate of accumulation by a
Marxist underconsumptionist theorist, and
thus for the time being the theory remains
incomplete.?’
In their book, Baran and Sweezy cité contri-
butions made by Joan Robinson, Michael Kalecki,
and Joseph Steindl. Since these authors are also an



integral part of the left-Keynesian theoretical -

tradition, it behooves us to irivestigate the implica-
tions of their respective analysis for the question
of crises.

Investment plays a crucial role in both
Keynesian and Marxian analysis. But in Keynesian
theory the emphasis is very much on the short-run
determinants of investment decisions. Insofar as
the above authors treat investment decisions,
therefore, they tend to focus primarily on the
short-run .and only secondarily on long-run
structural changes. Joan Robinson's early work
only treats structural change in passing, whereas
her later works. rely mainly on Kalecki.?* Kalecki
in turn, when he briefly. deals with the long-run,
simply assumes that in the .absence of external
factors capitalism tends toward stagnation. It is
innovation, therefore, which is the major factor in

_ pushing investment above the level necessary to

just reproduce the system, and he argues that it is
the decline in the intensity of innovations in
monopoly capitalissm which accounts for its
recent slow growth.?” This is all very ad hoc,
though, and in his last major work (1968} Kalecki
emphasizes that a satisfactory explanation of
long-run determinants of investment was still
lacking.2? : '

Lastly, Steindl begins by notion the incom-
pleteness of Kalecki’s long-run analysis, and sets
out to remedy this defect. In the final analysis,
however, he too is forced to postulate a decline in

the intensity of innovation as the primary factor in

the slow growth of modern capitalism, though he
emphasizes that monopoly tends to exacerbate the
effects of this decline. Like Kalecki before him, he
too ends by declaring that a satisfactory explana-
tion has yet to be found.?® It is not surprising,
therefore, that Baran and Sweezy prefer to set out
their own versions of the problem.

IV Capitalism as Self-Limiting Accumulation

Radical and Marxian underconsumption the-
ories tend to focus on effective demand as the
limiting factor in capitalist accumulation. In
Marx's own analysis, however, effective demand
is not an intrinsic problem. On the contrary, in his
view capitalists are driven to accumulate as
rapidly as possible, so that self-expanding repro-
duction, not stagnation, is the normal tendency of
the system. This does not imply that the
accumulation process is smooth, or that partial
crises may not occur along the way due to crop
failures, etc. But it definitely does imply that the

limits to the accumulation process do not arise

from an insufficiency of demand.

Does this mean, as Rosa Luxemburg so
eloquently argues, that once one rejects undercon-
sumption theory one is forced to accept the view
that accumulation (and hence capitalism itself) is
capable of indefinite extension? Not at all.
According to Marx, the limits to accumulation are
entirely internal to the process. “The real barrier
of capitalist production is capital itself."*

Capitalist accumulation is motivated by
profitability. But, according to Marx, accumula-
tion progressively lessens profitability, so that it
tends to undermine itself. This is the famous law
of the tendency of the rate of profit to fall, which
we shall turn to shortly. At the same time,
accumulation implies extension of capitalist rela-
tions;, increase of the proletariat and of its
strength. '

Declining profitability means declining rates
of accumulation and increasingly fierce competi-
tion among (national and international} capitalists
for markets, materials and cheap labor-power. As
weaker capitals are eliminated, economic concen-
tration and centralization (i.e., "monopoly”) in-
creases. Moreover, it becomes increasingly neces-
sary for capitalists to attack wages either directly,
through mechanization, or through import of
cheap labor-power and/or export of capital to
poorer countries,

At the same time, the size of the working class
and the extent of its collective experience in

. struggling against capital is continually on the rise.

Thus capital’s increasing attack on labor is met
with an increasing resistance and counter-attack
(over the long-run). The class struggle intensifies.
It is important to realize that the tendency for
profitability to decline (as Marx derives it) is not
caused by high wages although rising real wages
may well exacerbate it. This means that the
periodic crises which result from declining profita-
bility cannot be attributed to labor’s demands or
resistance, though of course different historical
stages and political situations are very important
in explaining how the system as a whole reacts to
each crisis. As long as capitalist relations prevail,
however, its general tendencies will continue to
operate. Consequently Marx emphasizes that the
task of the proletariat is not only to resist capital
but to overthrow it. )
It should be obvious from this brief sketch
that rising “monopoly,” decliniing rates of accumu-
lation and deepening class struggles can be
explained as consequences of the basic laws of
capitalist development, rather than as factors
giving rise to new laws — as is attempted by Baran
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and Sweezy, for instance.™ Since the law of declin-
ing profitability is central to this explanation, we
must examine it further.

A. Marx's Théory 6f the Falling Rate of Profit

The question of profitability has two impor-
tant aspects. First, what is the basis of profitability
and what determines its extent? Second, how does
capitalism develop this basis and what ‘effect does
this in turn have on its extent?

~ In answer to the first question, Marx begins
with the labor process. In all societies, he notes,
the objects necessary to satisfy human needs and
wants imply a certain allocation of society’s labor-
time, of its productive activities, in specific
proportions and quantities. Otherwise the repro-
duction of the society is impossible.

While the allocation of social labor is
fundamental to all societies, the extraction of
surplus labor is the basis of all class societies. This

_surplus labor forms the material and social basis of
the class relation. The extraction of surplus labor
must be enforced, for it provides the ruling class

-not only with its means of consumption, but also
with its means of domination. -

- In most societies, the allocation' of social
labor-time and the extraction of surplus labor are
socially regulated, by tradition, by law, by force.
But in capitalist society, productive activity is
privately undertaken by individual capitalists on

the basis of potential profit. Reproduction is not

an explicit consideration, and yet it must and does
take place. On the surface, it is money prices and
profits which provide the day to day “feedback”
which determines capitalists” decisions. But, Marx
argues, in reality it is the total labor times (labor
values) involved in the production of commodities
which regulate the money phenomena. This
regulation of prices and profits by labor values
and surplus value is in fact the ‘manner in which
the social requirements of reproduction manifest

-themselves in capitalist society. We will hence- .

forth deal directly with labor valies and surplus
value, since these are the real regulating elements.

During the labor process, workers use instru- -

ments of labor (plant and equipment) to transform
materials into finished products. The total labor-
time required for the finished product is therefore

* Incidentally, it is worth noting. that when, as a
consequence of declining profitability, capitalists curtail
their investment expenditures, part of the product available
will not be sold and it will appear that the crisis is caused by
lack of effective demand, by “underconsumption.” But in
fact this “underconsumption” is only a reaction to the crisis
in profitability. It is a symptom, not a cause.
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composed of two parts: first, the labor-time

~implicit in the means of production (materials,

plant and equipment) used up; and second, the
current labor time expended by workers in the
labor process itself. Marx calls the first element
“constant capital” (C) since it reappears in the final
product, while he calls the second “value added by
living labor”* (L). The total labor value of any final

-product is therefore C + L.

Out of the final product, part is just the
equivalent of means of production used up. Its
labor value will therefore be C, since this is the
labor value of the actual means of production used
up. This leaves us with the net product on one
hand, and value added by living labor (L) on the
other. The net product is the material equivalent
of living labor time L.

If there is to be a surplus product, then only
part of the net product must go to replace the
consumer goods used up by workers. The value
added by living labor (L) is therefore composed of

~ two parts, one of which corresponds to the labor-

value of the workers' consumption requirements
(V) and the other to the labor value of the surplus
product (S). In other words, it is the difference
betweeri the time workers actually put in (L), and -
the time necessary to reproduce themselves (V) —
their surplus labor time (S) — which gives rise to
the surplus product and hence to real profits: § =
L'—V;

The division of 'living labor time into
necessary (V) and surplus labor time (S) is therfore
the hidden basis of capitalist society. Marx calls
the ratio 5/V “the rate of surplus value” or “the
rate of exploitation.” Other things being equal, the
greater the rate of exploitation the greater the

-amount of surplus value and hence the greater the

profit.

The time workers actually put in (L) is
determined by the length of the working day. The
time necessary to reproduce themselves (V), on the
other hand, is determined by both the amount of
goods they consume (their “real wage”) and the
labor-time it takes to produce these goods. The
mass of surplus value (S) and the rate of exploita-
tion (5/V) can therefore be increased in two ways:
directly, by lengthening the working day L so that
surplus labor time is directly increased; and
indirectly, by lowering the necessary labor-time V
so that more of a given working day is spent in
surplus labor-time. This latter method of increas-
ing S and 5/V requires that either workers’ real
wages be reduced or that the productivity of their
labor be raised so that ‘it takes them less time to
produce their means of consumption, or both.



Capitalists constantly try all methods of
increasing the rate of exploitation. But over time

the growing strength of the working class has

sharply restricted attempts to lengthen the work-
ing day and/or lower the real wage. Thus
increasing the productivity of labor has come to be
the principal means of raising the rate of exploita-
tion. But the paradoxical thing about capitalism,
according to Marx, is that the very means by
which it raises the rate of exploitation tends to
lower the rate of profit. The rising productivity of
labor manifests itself in a falling profltablhty of
capital 3

The rate of surplus value 5/V expresses the
division of the working day into necessary and
surplus labor-time. It measures the degree of
exploitation of productive workers. But to capital-
ists the crucial thing is the degree of profitability of
capital. From their point of view, they invest
money in means of production {C) and in workers
(V), with the intention of making profit (S). The
amount of profit (5) relative to their investment (C
+ V} is the capitalist measure of success. In other
words, it is the rate of profit S/{(C+V) which
regulates the accumulation of capital. .

_ This is where the paradox comes in. In thexr
continuing battles against one another,* individ-
ual capitals are constantly forced to lower unit
costs so as to gain an edge over their competitors
{the current battle over pocket calculators ‘is: an

. excellent example of this process). As far as

success in battle of sales is concerned, anything
which lowers unit costs will do.

But capitalists are also perpetually engaged in
another battie — the battle of production, in the

‘labor process. And it is here that mechanization

arises as the principle means of raising the
productivity of labor and hence lowering ‘unit
costs. Capitalists hire workers for a specified
pericd, and their aim is to squeeze the maximum
possible productivity out of them during the
labor-process, at the lowest possible cost. This
implies not only struggles over the real wage and
the length and intensity of the working day, but
also over the nature of the labor process itself.
From the very beginning capitalists have sought to
“perfect” the labor process by subdividing it into
increasingly specialized and routinized tasks. With

. These battles are what Marx calls the * ‘competition
of capltals But this use of the term competition is not the

same as in perfect competition,” the opposite of which is

“monopoly.” In Marx the progressive concentration and
centralization of capitals implies fiercer “competition of
capitals” over progressively greater parts of the world. The
so-called “monopoly” stage of capitalism does not super-
cede competition but rather intensifies it,

capitalist control of the labor process human
productive activity is made increasingly mechani-
cal, automatic. It is no surprise then that these
mechanized human functions are progressively
replaced by actual machines. As machines replace
some human functions, the others are even more
subject to the tyranny of the mechanical, until
some of these functions too are replaced by
machines, and so on.*

The tendency towards mechanization is there-
fore the dominant capitalist method of raising the
social productivity of labor. It arises out of
capitalist control of the labor process, of human
productive activity. As such, neither growing
worker résistance nor rising real wages are the
intrinsic causes of mechanization, though they
may well speed up this tendency.

Increasing mechanization gives rise to what
Marx calls a rising technical composition, of
capital. Ever greater masses of means of produc-
tion and materials are set into operation by a given
number of workers. According to Marx, this in
turn implies that out of the total labor value (C +
L) of the final product, progressively more comes
from the means of production used up and
progressively less from living labor. In -other
words, the rising technical composition is reflected
in value terms as a rising ratio of “dead to living
labor,” of Cto L.

The rate of profit, as we have seen, is
S/HCH+V). But § = L-V, since surplus labor-time

(S) equals the time workers actually put in (L)

minus the time necessary to reproduce themselves
(V). Therefore, even if “workers lived on air”
(V=0), the most that S could be is Smax/C =L/C.
Consequently, L/C is the ceiling to the rate of pro-
fit, while the floor is of course zero. Now, if a
rising technical composition does indeed reflect
itself as a rising ratio C/L — hence a falling ratio
L/C — then the actual rate of profit will be pro-
gressively squeezed between a descending ceiling
and an unyielding fAoor, so that it must itself
exhibit a downward tendency. This is what Marx
means by the tendency of the rate of profit to fall.
The falling tendency described above is inde-
pendent of how L is divided between V and S, and
hence independent of the rate of exploitation 5/V.
In fact, if the real wage of workers were constant,
the rising productivity of labor due to mechaniza-
tion would continually raise 5/V; the greater the
productivity of labor, the less time it takes
workers to produce a given bundle of consumer

_* For a brilliant analysis of the modern labor ‘proceés,
see Harry Braverman's Labor and Monopoly Capital,
Monthly Review Press, New York, 1974,
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